HIFEHLZE A (defect)

[ B A ]
HERE, A k BARBWEENIEET AR, IRFEERR— kA 245 . 1R H 1

IR TT A n AN ETE, PRYIGRIE 1 S50E, TFEER n SHEEEE. 56 ¢ DRIV
NAE a; P00 Ca; # 1, H a; EAHEE . m 4EM, 4EREREHA N, aLlE
i FE AN FEGE R — AN prlEl . ERRAER BN, JF HAER S, Bt DURAEE BN
AR NI, (BRI AR ISR, BT DLUR a0 SRAE 5 — I 2 A0 5% B R 1 R 2L
ANAEFR —Ap51E], ARt A

TE—F0oh, IR — 255 2 H oI Ak s TA) 1) A8 JBR 9 7 380 7 AR S S 1 o — > 5 [
ML ANE 2 BENLHE &85 —2% 2508, Hidk T eEm&d s, thin— ML Aviih
£ 2 ShEE, EHE—ET 2 - 3 RFEE/MBIL 3 FhE0E, BAERBEHRE (2,3)
SR N — ekt 3 — 4 IX&ER, WABBEMAE (2,3)(3,4). WRE—HFFT—F
T R8N (GEME TR LG NAERGE T), IABESAERHE—Zid%,
WFTHERAE N (2,3)(3,4) GO T UERE T 4 — 3 4EH, BABEHMIER (2,3).

EREFENIFARLEARETEEN A, RO RGO EFELMBR, Plas NE
T AHE R E R .

PR, PLEs N e sl 7 — N BIE d, A e iEg
FEHLEE N, ESIERNE T —AN A E T, I HERIER R R,

Eetny d =2 &, PLEARIERAE N (2,3)(3,4) MITER T, REE 4 =5, el
B 5 5 HEAETHRR, IF H R E B

WHER, RIFAFIENE NS WATIEAT BENLESE 1), FrUARTSORIE B SRR )
BAEE 2 A4, MR UEMRERNE L, eyl N u & sh#il A K 3K,

WM. (RBFRIEECER n SEENIHMEEERRBIN[ASTERERER)

[imARER]

FAT=ADIERE 0, m, do
BN Em AT, H AT 2 DN IEBE w, v, IR T SOE RIS u; Ao, B, (R
IBE B BFMEL)

RIG— AT — D IERH b, RN AR
BEE AT, BT DRI 0 FRE @ DHLE ANPERIPIIR 5 S

CiathigsX]
WA AT TR MR, AP — M L, FoRm B

R, SRR ATHI L+ 1 DB Pl g (kg 27,

1



LAt AR BRI, WRARIRE 2R R, 2k S P i RD .
N E S —1 B

(A6 1 A

uvi H OO O L1 N W N 0
N

O 00 N o Ui B W N R

=
Q9]

A P M P WU N WN PR

=
=

(A£G 1 i ]

113
211237

(4451 21
WiEFHF TN defect/defect2.in 5 defect/defect2.ans.

(#4531
WiEFHFKTH defect/defect3.in 5 defect/defect3.ans.

(#4541
WiEFHFKTH defect/defect).in 5 defect/defect.ans.

[HESEE ]

X R EdE, ARIE
e 1< n,k d<10°
e 1<m<5x10%



MRS | nd<| m< | k<
1~2 10 40 1
3~4 100 1000 3
5~ 6 1

— 10° 5 x 10°
7~ 20 10°




	 故障机器人（defect） 
	题目描述
	输入格式
	输出格式
	样例 1 输入
	样例 1 输出
	样例2
	样例3
	样例4
	数据范围


